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Q4.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Bl
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Total 4 marks
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Question |  Working Answer Marks Comments
(a) 3 Bl for 8 in intersection
and 13 in correct
position
Bl for5 in correct
position
5 5,10,8,13 =
Bl for 10 in correct
position
) 51 1 B1_or ft from diagram
© 10 1 Bl or ft from diagram

Total 5 marks
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Answer Mark

Bl Gand 11 comect
regions
Note: Award BO for any
umbers added to
incorrect regions

®) 2578 BI 1t from Venn diagram
1 Tznore brackets and
separators

© ©.12) BI 1t from Venn diagram
1 Tznore brackets and
separators

@ 6] 1 [BI fifrom Venn diagram

Total 4 marks
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Question Working Answer | Mark | AO Notes
a 3 |AOI| B3 Comect diagram
B2 for 3 over-lapping circles with 7 in
intersection and atleast
other comect mnbers
B1 for 3 over-lapping circles with 7 in
nvessecton
0
4
b = 1 |403 | Bl # from diagram
c B e 1 |A03| Bl # fromdiagram
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Q [Working Answer [Mark] Notes
ai 6,12 1 [Bl cao
ail 2,3,4689,10,12,14 1 Bl cao
b 10 members incommon | 1 | B accept . c.g. members of 4 are cven and

members of B are odd: no numbers the same

Total 3 marks
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Question

Answer

Mark

Notes

If not B then

B for atleast 3 correct values and no
incorrect values or all correct values
with only 1 incorrect value

Total 2 marks
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Question | Working Answer | Mark Notes

12345679 1 |Bl norepeats

b g 45.7.8 B2 for4. 5 andany twoof 7. 8.9, 10

If not B then B for 4,5 or
4,5 and any one o two other numbers from the
universal set or

4,5.7.8,9,100r

7.8.9.100r

Venn diagram with 4,5 in intersection and any
fwo correct mumbers (eg. 8.10) in C

Total 3 marks
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Working | Answer

Mark

Notes

@

4.8 & one even number
other than 2, 6 or 10

BT ford, 8 alone o
for 4, 8 and one odd
mmber or

for 4, 8 and more than
one other even number
(any extra even
mumbers must not be 2
or 6 or 10)

Accept 0 as an even
mumber

®)

3 even numbers other than
2,4,6,80r10eg 12,14, 16

BI

Total 3 marks
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Question Working Answer Mark Notes
@® "Does ot sudy Vit T [B1 Accept general swers (e ¢ o student belongs i both
No student studies (both) o).
‘German and Maths
Students who study German
domotswdyMaths
@ (Precty) oo ot study French | 1| BI _ Acceptsbe e i place of reey or omission of mame
(Precty) s not & member of (se0 F| Penalse extra ncorrect statements (e Preety sudies
‘Maths and German but ot French)
© 1334] 3 [B) _Bi forany 3 comect with no repetitions or additions

Total €marhs.
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Question | Working | Answer | Mark | Notes
(a) ) 2 B2 for all correct
(0@ ¢
NN B1 for 2 or 3 correct
B0 0 2 BT cao
() 25 Bl  cao
Total 4 marks
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Universal set has only
numbers less than 13

Question| Working| Answer | Mark Notes
@0 612] 1 [BI
@ @) 2,3,5.6.7.| 1 |Bl  Withhold mark for repeat elements
9.11.12
®) No
1 |Bl  Dependent on“No” box indicated

(idea that 14 does not belong to £)

Total 3 marks
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Question | Working Answer Mark Notes
@ g “There are no numbers whichare m both | 1 | BI _For a statement which
AandB”. indicates correct meanings of
g “4isodd, Bis ever' intersection and empty set
(b) 9 1 Bl
© 3.7.89] 2 | B2 AwadBl forany thiee

correct with no extras or all
four correct with only one
extra. Allowin any order,
with or without brackets,
ignore repeats.

Total 4 marks
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Question | Working Answer Mark Notes
@0 .ra)| 1 |BI Withhold marks for repeats
@ @ artsbude| 1 |[Bl Withhold marks for repeats
® E
1o letters common to Prague Bl deponEinbox
and Lisbon Accept general reasons.
.. “n0 letters common to sets A and E
or “they share no common letters
or “no intersection (between A and E)
o “n0 letters the same’
1 of “no letter in A are in E°

Total 3 marks
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Question | Working Answer | Mark Notes
@ 1.4567] 1 BI
) s8] 1 BI
© 1,4,7,8,9 1 Bl
@ 567 1 BI

Total 4 marks
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Ques [Working | _ Answer | Mark Notes
a 3.6.9 1| Bl condone {3.6.9}

b 23.4.689.10) | 1 | BI condone omission of brackets
< 6} T | BI condone omission of brackets
d 3.9 2 |Blcao

(B1 for one of 3, 9 with no incorrect numbers)

Total § marks
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Question

Answer

Notes

@

abde

abde

B1 for

acor
ab.dorbdeor
abeoradeor
abede or abdef
or a Venn diagram with 2.
.. f comectly shown

®)

BL

Total 3 marks
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Question Answer Mark Notes
@ 5 1_|BI
®) 7 T [BI
© T [BI Must be unambiguous

Correct segion shaded

Total 3 marks
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Question [ Working Answer  [Mark [Notes
Number
@ SetB separate to A, set 7 [BIBI SetChastobea
Cwithin A unique set
® outer ring between A T [Bift Completely
and C shaded

outside of C and within all of A.

SetChastobea
unique set

Total 3 marks
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Working
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Mark

Notes

@ overlapping circles
6 outside circles

M
M2 Venn diagram sets have

10in Fonly, 8in S only, 18| 4 |tolabelled
7in overlap ifnot M2 then M1 for
any two values in correct
place in union or 7 in
overlap
Al
AftMethod Ml dentfies
5) union or
or (17+15+6)~ intersection
31(=T)oe
M1 dep
Identifies or M2 for
components 2577
18| 4 |toadd
{sp} | 7" Midep Adds
(=10) components
and “25"-15 | {Fr} Al (Ansonly
(10){Fr} | and15- =M3AL)
s

e},
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Q | Working | Anmswer | Mark Notes
[6) B[ 1 |BI
) B[ 1 |Bi
) 91 |B1
) 2| 1 |B1

Total 4 marks.





image25.jpeg
Question Working Answer [ Mark Notes
Number

[0] 5] 1|81

(i) 23] 1 _|[B1

() 2] 1 [B1

(v) 2] 1 |81

Total 4 marks
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Question|
Number

‘Working

Answer

Mark

Notes

M2

For complete,
correct Venn
Diagram
(outiine, labels
and numbers)
(accept blank
instead of 0

M1 for correct
outline and
labels and at
least 3 non-
zero numbers
correct
excluding 11,
9, 7(in 1)

22

AL

cao

Total 3
marks
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Working Mark Notes
@ M1 For 5 in the middle and 1 from
4DNLNT ) or 2LNTND) o
6DNTNL)
M1 For any 4 correct entries
Al Forall comrect including 2 outside the
circles inside the rectangle
3
® Bl from incorrect diagram

ol

Total 4 marks
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Ques Working Answer Notes
a Sand 6 in the correct B2 Both correct, B for one correct
regions of the Venn
diagram
bi 25 BI Comect or fi from their Venn
i Diagram dep on both values entered
12 Correct or ft dep on a value for 5™

Bl

in Venn diagram

Total 4 marks





